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Kelas: Pendidikan Matematika A

R.2

>S5& (2%x"2xy) ™4

(22%y)*

16 28 y*

24a10p=8¢7\ 70
12a8b—3¢5

>$6& ((24%a”10xb"-8xc”7)/ (1l2xa”6+xb"-3xc”"5))" =5

>$& (x"=9xy”*-17)/(z"-11)

b25

32 q20 10

£E79y717
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4(8—6)2—4x3+2x8

3 4+190



>$& (4% (8-6)"2-4x3+2%8)/(371+1970)

26 x 973 £ 910 . 9—8

>$& 27°6x27"-3/2710/2"-8

expand (2a + 3) (a 4+ 5) = (2a+ 3) (a + 5)

2
R.3
1.
(8y”)(9y)
>S&showev (/expand (8*y”"5)* (9+xy))
9y expand (8 y5) =729°
2.
(2a+ 3)(a+5)
>S$&showev (/expand(2+«a+3) (a+5))



t*—=4* -1

>S&showev (’expand(t”a+4) (t™a-7))

expand (t* +4) (t* —7) = (t* +4) (t* = 7)

(3z — 2y)(3x + 2y)

>S&showev (/expand (3xx—2x*y) (3*xx+2xy))

expand (3x —2y) 2y +3z) = 32 —2y) (2y + 3x)

(x+1)(z—1)(z* +1)

>S$&showev (/expand (x+1)* (x-1)* (x"2+1))

(z—1) (z°+1) ezpand (z+1) = (z — 1) (z+1) (2* + 1)

R.4

y? + 12y + 27

>$& factor (y"2+12xy+27)

(y+3) (y+9)



>$& factor (m"2-m—90)

>$& factor (p"3-2+xp"2-9+p+18)

>S& factor (250xz"4-2%z)

>$& factor ((x+h) "3-x"3)

m2 —m—90

(m—10) (m+9)

p® —2p% —9p+18

(r—3) (p—2) (p+3)

25024 — 22

2z (5z—1) (252 +52+1)

(x + h)> — 23

h (32 4+ 3hx + h?)

R.5




2 4+6t=0

>sol &= solve (t"2+6+t=0,t); S&sol
[t =—6,t=0]

22 +32x-28=0

>so0l &= solve (x"2+3%*x-28=0,x); S$&sol

3y +8y+4=0

>so0l &= solve (3xy"2+8xy+4=0,y); S$&sol

2=
y=-3u=

323 + 622 — 272 — 54 =0

>s0l &= solve (3*xx"3+6xx"2-27+xx-54=0,x); S$&sol

[r=-3,2=-2,2 =3



32n—5)—-7=4(n—-"9)

>sol &= solve (3% (2*xn-5)=4x(n-9),n); S$&sol

1.
x? —4
22 —dx +4
>$& solve ((x7°2-4)/ (x"2-4%x+4))
o =2
2.
2 +2x—3
2 -9
>$& solve ((x"2+42%x-3)/ (x"2-9))
w=1]
3.
.3
S5r bz
>$& solve ((7/5+x)+(3/5+x))
[z = 0]



Y5 — 5yt + 4y
y* — 6y* + 8y

>$& solve ((y"5-5xy"4+4+y"3)/ (y"3-6xy"2+8*y))

>$& solve ((3/x+2)+(2/x72-4))

[y =0,y=1]
3 n 2
r+2 x22-4

(sqrt (=7)"2)

(sgrt (2xb+5) ~2)

_7?

(2b+5)2

2b+5



Va2 —4dxr+4

>$& solve (sgrt (x72-4xx+4))

[z =2]
4,

VT2
>$& (sgrt(72))

32%
5.

(a—2)?
>$& (sqgrt(a-2)"2)

a—2

2.3

h(x) = (4+32)°

>$& solve (h(x)=(4+3%x)"5)



>$& solve ((h(x)=1-(x-2)"4))

=
NS

[a::Z—i(l—h(x)) w=i(1—h@)+2,2=2-(1-h(z)) ,x=(1—h(x))%+2]

3.
h(z) = (Vz - 3)*
>$& solve ((h(x)=(sqrt (x))-3)"4)
[ \/h4 )+ Vo (122 + 108) + 648 — 27, x—\/h4 )+ Vo (122 + 108) + 648 — 27
4.
3 —1
h(x)_mSnLl
>$& solve (h(x)=(x"3-1)/(x"3+1))
—h(x)—1
3 _
[”” - h(x)—l]

hMz)=1y1+V1i+z

>$& solve (h(x)=(sgrt (1+ (sgrt (1+x)))))

[h(@: VITI41

3.1




(=5 — i) + (6 + 2i)

>$& (=5-1i)+(6+2*1)

1+ 1

(=3 —4i) — (8 — i)

>$& (=3-4x1)-(8-1)

—3i—11
3.
vV—4 x v/—36
>$& (sqgrt (—4))* (sqrt (-36))
—12
4.
Ti(2 — 5i)
>S& (7*1ix(2-5%1))
7(2-51i)1
5.
—2i(—8 + 31)

>8& (—2%1*x (—8+3%1))
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—2i (37— 8)

3.4

>$& solve (1/4+1/5=1/t)

>$& solve ((sgrt (2xx-5))=2)

V2r—5=2

11

2.
12
r——=1
T
>$& solve (x—(12/x)=1)
[t = -3,z =4]
3.
13
3r+6 22-4 x-2
>$& solve ((1/(3xx+6))—(1/(x"2-4))=3/(x-2))
23
r=—-——
8
4.



Viz+d=x+2
>S5& solve ((sqrt (7xx+4))=x+2)
o= 7z Ta-2]
3.5
1.
|l +3—2=8

>$& fourier_elim([abs (x+3)-2=8], [x])

fourier__elim ([|x + 3| — 2 = 8], [z])

12—|z+6|=5

>$& fourier_elim([1l2-abs(x+6)=5], [x])

fourier__elim ([12 — |z + 6] = 5], [x])

|20 — 4] < =5

>$& fourier_elim([abs (2+*x-4)<-5], [x])

fourier__elim ([|2x — 4] < —5], [x])
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|5 — 22| > 10

>S&fourier_elim([abs (5-2%x)>10], [x])

fourier__elim ([|2x — 5| > 10], [z])

32 — 1| > 5x — 2

>S&fourier_elim([abs (3*xx-1)>5xx-21, [x])

fourier__elim ([|3z — 1| > bx — 2], [x])

Chapter 3 Test

T+5V7—36=0

>$& solve (x+5* (sqgrt (x))-36=0)

[x:3675\/ﬂ
2.
3 2
3x+4+$—1:2

>3& solve (3/ (3*xx+4)+2/ (x-1)=2)
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vVer+4—+Vr—4=2

>$& solve ((sqrt (x+4))—(sqgrt (x-4))=2)

(Vo +4=Vz—4+2]

[4y —3| =5

>S&fourier_elim([abs (4«y—-3)=51, [y])

fourier__elim ([[4y — 3] = 5], [y])

|z + 5] > 2

>$&fourier_elim([abs (x+5)>2], [x])

fourier__elim ([|x + 5] > 2], [z])

4.1

flz)=2* —42® 43

>$& solve (f(xX)=x"4-4xx"2+3)

[xzzm—&—lﬁ:?— f(ac)—|—1}
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flx)=2a® —2* 2242

>5& solve (f (x)=x"3-xX"2-2%x+2)

1 V31
m_( V3i 1) <\/27f2(x)68f(:1:)8+27f(gc)—34>3+ 7( 3 —%) I (ﬁ
|\ 7% 75 3 T Tt = | T
22 232 o4 TP @ | i)’ O 2
) 233 + 54

f(z) = (2* — 5z +6)?
>$& solve (f (x)=(x"2-5*+x+6)"2)

5 AV \/1*4\/m+
> > ’ >

) 5
= ==
2’ 2

_\/4\/f(a;)+1 \/4\/f(:17)+1+5
2 . 2 2

f(z)=2%+32" —2x -3

>S& solve (f (x)=x"3+3*x"2-x—3)

( V3i 1)( 27 2 () — 256 f(g;)>3+ 4(‘/5”—%) . <\/§z 1>< 27 2 (x) — 25
r=|—-——-—= L~ Lht= D) 3

2 2 23% 2 3 (vgfﬁcw—%%_+f@ﬂ>3 2 2 233

233 2
5.
(302—4)2
>8& solve ((x72-4)"2)
[z =-2,2=2]
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4

3

(2% — 222 —8) + (x +2)

>$& solve ((x"3-2*xx"2-8)/(x+2))

V3i 1 i 1 ;
4( > —5) 431 116\° [ VBi 1) 2 V31 116\ [(V3i 1 4<— 5
x = -+ | — )+t S+ Y )+
4v3T , 116\ 7 32 27 2 2 3 32 27 2 2 431
o (7 ) o
32
2.

(@ = 1)+ (z—1)

>S$& solve ((x74-1)/(x-1))

[ =—i,x =i,2 = —1]

f(z) =2® —32% — 10z + 24

>$& solve (f (x)=x"3-3xx-10*x+24)

1 V3i 1
o (_\/ﬁi _1) <\/27f2(:r)—1296f(x)+6764 . f(x)—24>3 N 13 ( 2 _5)
3 1
2 2 232 2 /27 f2(2)—1296 f(z)+6764  f(z)—24 )"~
3 . + L
232

f(z) =2 — 122+ 16

>$& solve (f (x)=x"3-12xx+16)
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>S8&

(x"4-y*4) / (x-y)

(@' =y + (z—y)

17



